SHIEE BEENITEEFERIZBITAAZREREEXR
sEH BEH No. 1
= n B TEFT | conn | on -
2 % & 2 - 2 x| meAs | Fray | SR | BRI o
% it (A) (B) B=A | ™"
rE =EE H#* 240 2) 238 293 1.23 1.01
tEREDE =& H* 200 2) 198 232 1.17 1.04
FE® =@ + 160 €D 159 129 0. 81 1. 01
LFEm =R H* 240 2) 238 259 1.09 0.93
g =& H* 320 2) 318 390 1.23 1.31
BT =@ =3 320 (2) 318 397 1.25 1.04
FEZFEKRE =EF H* 680 5) 675 836 1.24 1.12
AR5 =& H* 320 (2) 318 329 1.03 0.96
=W =@ =3 280 (2) 278 283 1.02 1.00
adtiE =EF H* 160 QD) 159 132 0.83 0.58
SEFN =@ E:] 360 2) 358 512 1.43 1.53
SEFNAE =@ #* 320 (2) 318 329 1.03 1.25
SHME—&F =EF E:S 360 2) 358 521 1.46 1.39
SEANTE =@ a3 360 2) 358 501 1.40 1.56
SHANER ZEE H* 320 2) 318 331 1.04 1.06
KE =& H* 320 2) 318 500 1.57 1.36
KE S =@ H* 200 (2) 198 204 1.03 1.12
NEZEI—X #H 40 40 31 0.78 0.93
KER =& H* 240 2) 238 219 0.92 1.10
KEE =@ H* 360 (2) 358 347 0.97 1. 21
KE KR E =EE H* 240 2) 238 243 1.02 0.91
NI =@ H* 200 1) 199 152 0.76 1.16
wh =@ #* 280 (2) 278 242 0.87 1.03
el =EE H* 160 QD) 159 152 0.96 1.06
A =@ H+ 80 1) 79 81 1.03 0.72
EBE =EE E] 360 2) 358 460 1.28 1.34
EBELF =& E:S 240 2) 238 294 1.24 0.99
EHEE =@ + 320 (2) 318 359 1.13 1.13
o =EE H* 320 2) 318 364 1.14 1.14
Jiade =EE H* 360 2) 358 359 1.00 1. 41
JO&EE =@ =3 280 (2) 278 305 1.10 0.98
JIIOE =EE H* 280 2) 278 280 1.01 0.97
JIH =@ E:] 360 (2) 358 489 1.37 1.46
Nz F =EE E:S 360 2) 358 464 1.30 1.39
JI#E P =EE H* 320 2) 318 279 0.88 1.18
)11 8 #T) e =@ H* 200 2) 198 148 0.75 0.89
I ZEE H#* 360 2) 358 632 1.77 1. 31
bR =EF H* 160 €D 159 147 0.92 1.16
AE =@ E:S 280 (2) 278 296 1.06 1.14
A ZEE E] 320 2) 318 318 1.00 1.07
RERALF =& E:S 320 2) 318 359 1.13 1.19
REAT =@ =3 240 (2) 238 270 1.13 1.28
E b =EE H* 200 2) 198 155 0.78 0.99
JRE =& H* 200 (2) 198 215 1.09 1.26
BEAT =EE E:S 80 €D 79 67 0.85 1.09
tﬁ’T%’ %ﬁ*—l H* 320 (2) 318 438 1.38 1.38
BEAES () RONSE BRI R REASE0RE B BEABORETHS.

(
- FRFEREEEIRO [TBR] X, AX. BH. EBE. AR—YRE,

=i, £FEHF. FHREEOHTH S,




SE% BB No. 2

$ *—I— % ]\?E‘FEI =+ ES 3T 2% =
B B & 2 - 2 |x| mEAms | FEam | AR | BEOBEE g s
% #t (A) (B) B=A | ™"

BAL ) E: 320 (D) 318 225]  1.34] 1.07
N EF En 320 (2) 318 329  1.03] 1.08
BAR EER % 280 (2) 278 31| 1.12 ]| 099
Bam = @R E: 320 (2) 318 A9 132 1.32
kS EFE E: 0 () 39 20 0.74| 0. 61
AEI1—X % 20 20 18] 0.45 | 0.55

e =@ E: 320 (2 318 315] 099 | 127
R 7 e 7 320 (2) 318 386]  1.21 | 1.04
WLE & EET % 200 (2) 198 21 112 1.13
= AT 5 20 (2) 238 308]  1.20 | 111
A EFE 5 160 (1) 159 149 0.94| 1.23
B @R Er 160 (1) 159 126 0.79 | 1.20
PE ErE P 280 (2) 278 240]  0.86 | 1.03
=9 EEn Er 360 (2) 358 357 099 | 1.12
= e = @R Er: 220 (2) 238 245 1.03 | 1.17
EL EFE E: 320 (2) 318 381 1.20] 1.14
= @R E 220 (2) 238 246] 1,03 | 1.32
A = @R 5 200 (2) 198 2000 1,01 | 0.92
By EER Er £ 200 (2) 198 186] 0.94 | 1.06
AR @R 5 360 (2) 358 238 122 1.24
AR = @R 5 320 (2) 318 254 143 111
AR TR R EF E 320 (2) 318 307 1.25| 1.03
AR EET % 320 (2) 318 333 1.05 | 111
= [ EF % 320 (2) 318 300]  1.23| 1.29
ik EER % 320 (2) 318 a4 1.40| 1.19
7 E @R 5 200 (2) 198 202] 102 | 0.86
o R Er E: 200 (2) 198 233 1.18 | 0.95
SEEAER @R # 200 (2) 198 114 0.58 | 0.87
B4 = @R Er: 160 (2) 158 2000 127 | 1.28
[, EF P 120 (1) 119 56|  0.47 | 0.59
FEE— R Er 160 (1) 159 159 1.00 | 0.82
BR Bt @R : 20 (2) 238 245] 103 | 1.13
BREER e = 120 (1) 119 8] 082 08
ZR—va—2 | & 20 20 8 0.20 | 0.70

S Er % 120 (1) 119 174 0.96 | 1.04
BHRa—X # 20 20 57 1.43| 090

ETS =@ 5 200 (2 198 216] _1.00 | 1.00
EAE— EF E: 280 (2) 278 315 1.13| 1.14
Bl EER # 200 (2) 198 201 1.02 | 0.97
5 CHE = @R E: 120 (2) 118 11| 0.94 | 1.08
BN ErE E 320 (2) 318 23 133 1.3
KIE EET % 320 (2) 318 205 1.27] 1.15
X = @R E: 120 (2) 118 115 __0.97 | 0.88
BHRE SRR o—X | & 20 20 39] 0.98 | 1.20

Al EFE ] 280 (2) 278 2511 0.90 | 1.14
RILETF E5ER % 320 (2) 318 304] 096 | 124




S BEE No.3
$ *5]— % A?ELFEI =+ ES 3T 2% =

2 % % 2 - 2 |x| mEAms | FEam | AR | BEOBEE g s

% 3t (A) (B) B=A | ™"

=i =&EF H* 200 2) 198 211 1.07 0.83
=i d =@ T 240 (2) 238 264 1.11 1.03
= =EE H* 200 2) 198 205 1.04 1.10
£z =& H* 120 (1) 119 89 0.75 0.72
J\i#A =@ =3 120 QD) 119 139 1.17 1.07
AKE2—R H* 40 40 18 0.45 0.78
J\EE =& H* 80 (1) 79 62 0.78 1.06
5% =@ H* 360 (2) 358 414 1.16 1.33
A =EF H® 160 M 159 139 0.87 1.06
I E R =@ H* 240 2) 238 270 1.13 1. 39
25 =EE i+ 280 2) 278 275 0.99 0.96
iR =EF H* 320 2) 318 429 1.35 1.53
O i)k =@ #* 140 140 230 1. 64 1.15
O WILEH =EF #H 240 240 478 1.99 1.59
O WILEFFE =& #H 320 320 387 1.21 1.36
O i K=l =@ i+ 280 280 378 1.35 1. 41
O nAamhaz =EE #H 280 280 507 1. 81 1.20
AR—YEFEI—X| & 80 80 118 1.48 1.21
T B # £t 26,660 (181) 26,479 30, 169 1.14 1.15

ORI, MumEe

JIOFAIEFFRAR—VYREI-RAOKERYPFEERIE. MEOXBRAR—YI—-RDEERTH 5D,




+E8 B No.4
$ *5]— % ]\?E‘FEI =+ ES 3T 2% =
2 % % 2 - 2 |x| mEAms | FEam | AR | BEOBEE g s
% 3t (A) (B) B=A | ™"
E = - B 3 5 = @
EEAEE BaEER H* 40 40 38 0.95 1.08
EMEETZEFR It 80 €D 79 79 1.00 1.09
SRR H* 40 40 43 1.08 0.86
E WA ERRE #* 80 80 80 1.00 0.99
BEQE EWMERR It 40 €D 39 39 1.00 0.87
RIETHA UF H* 40 40 29 0.73 1.00
YEER%E WA E TR H* 40 40 48 1.20 1.15
B =%} H* 40 40 40 1.00 0.98
& EF H* 40 1) 39 30 0.77 1. 21
BRmiER H* 40 40 28 0.70 1.13
SRR H® 40 40 47 1.18 0.83
EMEETZEFR #* 40 40 19 0.48 1.28
BREIRZE EEFR H* 40 40 46 1.15 1.05
B RiEEFR H* 40 QD) 39 1 1.05 0.77
ZMEEFR H* 40 40 36 0.90 0.80
BT & B=T7H4 8 #H 40 40 1 1.03 1.15
PIEEZE BE=% H* 40 40 39 0.98 0.70
EERER 3 40 (1) 39 33 0. 85 1.08
E X £t 800 (5) 795 756 0.95 1.00




+E8 B N5
$ *5]— % A?ELFEI =+ ES 3T 2% =
2 % % 2 - 2 |x| mEAms | FEam | AR | BEOBEE g s
% 3t (A) (B) B=A | ™"
T 2 - B I 2 = 7

SHAMIITE EE S F<3 40 €D 39 27 0.69 0.92
A FL It 80 €D 79 67 0.85 1.13

HiE AT LFE H* 40 40 26 0.65 0.93

EE s R H* 40 40 52 1.30 1.15

RKEILE A FL H* 80 80 74 0.93 1.00
ESk! H* 40 40 32 0.80 1.13

BEEFR H 80 QD) 79 69 0.87 1.14

B EL 3t 80 M 79 91 1.15 1. 11

EREIE FE AR H* 80 1) 79 64 0. 81 1.01
BEEFR i+ 80 80 61 0.76 1.19

ESk! H* 80 QD) 79 50 0.63 0.98

JIOTIT% FE AR H* 80 80 62 0.78 1.08
B5E It 80 QD) 79 66 0.84 1.27

EHRBIEFR H* 80 D) 79 102 1.29 1.37

JI#R T 3 THA 8 H* 40 40 50 1.25 1.50
BEEFR H* 40 40 49 1.23 0.98

AR H* 80 (1) 79 72 0.91 1.00

B5E H* 40 40 55 1.38 1.13

1§ 3t 80 M 79 51 0.65 0.95

AETHE B5F H* 40 1) 39 37 0.95 1.08
TEbLFF i+ 40 40 43 1.08 1.03

S H* 80 80 88 1.10 0. 89

RIER SR H* 40 40 35 0.88 0.75

IEREAMTR H* 40 40 69 1.73 1.35

AT % SRk o) H* 40 40 36 0.90 0.98
BN H* 40 40 44 1.10 1.15

T RKF H* 40 40 39 0.98 0.95

S H* 80 (1) 79 60 0.76 0.81

IERELMTE H* 40 40 1 1.03 1.15

BABRE B TFHWE H* 40 QD) 39 36 0.92 0.85
&R MR H#* 40 40 57 1.43 1.05

RBREQE FEAk A H* 40 40 33 0.83 0.50
BT EL H* 40 40 25 0.63 0.88

FILTE FE AR H* 80 80 63 0.79 1.08
B5E It 40 €D 39 39 1.00 1.00

BT EL H* 80 M 79 70 0.89 0.94

EIEEE BERVATLE =3 40 €D 39 27 0.69 0.97
BEAT 12 T7H #H 40 40 39 0.98 1.10

FNIOLYF H* 40 40 40 1.00 0.90

BREIRE BERATLE =3 40 QD) 39 37 0.95 0.74
B X T LE #H 40 40 29 0.73 0.75

SEGERN  |BrEn g 00 3 2% 067 072
IEREAMTR H* 40 40 48 1.20 1.20

THA H® 40 40 40 1.00 1.05

SRR T AT FE AR a3 40 1) 39 33 0.85 0.86
B HEWE H* 40 40 20 0.50 1.15

ESk! H* 40 QD) 39 23 0.59 1.18

IERELMTE H* 40 40 32 0.80 0.90

EREFE H* 40 40 30 0.75 0.95

I % # =t 2,600 (20) 2,580 2,359 0.91 1.02




PN L TGEs: No.6
$ *5]— % A?ELFEI =+ ES 3T 2% =
B B & 2 - 2 |x| mEAms | FEam | AR | BEOBEE g s
% #t (A) (B) B=A | ™"
i ES = E5] £l % s Fl
TR EEZD £ 120 120 37 114 1.4
AR EEZD # 80 (1) 79 o1 1.15| 094
B MER E: 80 80 82| 1.03| 1.30
BAEE EESD E: 200 (2) 198 146] 0.74 | 1.00
BE R IER % 80 80 120 1.61| 1.78
AEEE EEZT] E: 200 () 198 177] _ 0.89 | 1.01
EABmE BAEESHAR | & 200 (1) 199 176] _ 0.88 | 0.96
B EEZD % 80 80 62]  0.78 | 1.06
BABEEM | nBEa 5 40 40 36| 090 | 083
BERAIER E? 20 20 25| 0.63 | 0.80
ILEE B R Er 80 (1) 79 63| 0.86| 0.77
SR P 80 80 57 0.71| 0.8
B AIER % 80 80 03] 1.29 | 1.18
FREE B ERAIER # 80 (1) 79 88| 1.11| 1.3
EETuER E: 80 80 74 0.93| 0. 81
ESRREE | & 80 (1) 79 37 0.47| 061
TREGRORM |BAEOTAR | & 0 () 39 25| 0.64 | 1.00
B EHRAMER £ 80 80 79] 0.99 | 1.40
781 EHREER % 40 ) 33| 0.83| 0.65
PEEE EEZD 5 20 20 12030 | 0.65
ESRAEF | & 20 () 39 o 000 o.18
B ER % 20 20 30 0.75| 0.75
EATE EESD % 160 (2) 158 5] 1.01 | 1.22
2R % ) 20 34| 0.85| 1.08
BERAIER % 80 80 75| 0.94| 1.18
=5 BER E: 80 (1) 79 25| 0.32| 023
B EEZD # 80 (1) 79 64 081 1.03
BEMER Er: 80 80 85| 1.06 | 0. 81
O Tl EEE AR P 70 70 116] _ 1.66 | 1.66
B MER % 70 70 99l 1.41] 1.29
EREIR =F 2.540 _(15) 7 525 7 304] 092 | 103

- OFNIE. MIIEHFEEK




S SPEE No.7
R T N X | comn | ex n
2 % % 2 - 2 |x| mEAms | FEam | AR | BEOBEE g s
% 3t (A) (B) B=A | ™"
= B - B 7 2% = &
PR H®EH E°3 40 40 48 1.20 0.93
KB FF T 40 40 43 1.08 0.88
BARART |BETv4oE | & TG 3 277069 | 0 51
BYRER H* 40 40 43 1.08 0.83
BREIRZE SATTHAUR| &£ 40 40 31 0.78 0.93
J—RKTH4 R | & 40 40 40 1.00 0.98
T EE A AT REFTH 41 U F i+ 40 40 31 0.78 0.68
EYERAER H* 40 40 47 1.18 1.03
ES r§§ %} it 320 (1) 319 310 0.97 0.84
E = - B 3 2 = &
e |EER H* 80 80 99 1.24 1.08
E E F =t 80 80 99 1.24 1.08
5 N R A N
EHELF NEZEF =z 40 40 59 1.48 1.53
HAE HEEEFR H* 40 40 63 1.58 1.05
WP HEEEFR H* 40 40 28 0.70 1.08
B nmg SNEEF H® 40 40 42 1.05 1.00
miE HEEEFR H#* 40 40 49 1.23 1.50
T EE HEEEFR i+ 40 40 58 1.45 1.03
A EFR SHEEEFR 3t 80 M 79 82 1.04 1.44
B SN EEZEFR H* 40 40 50 1.25 1.55
y FH 2 R £t 360 (1) 359 431 1.20 1.29
T % - B 3 % = &
KNEIJiE EME H* 40 40 61 1.53 1.83
A EfrE H* 40 40 1 1.03 0.93
=is E T El H* 40 40 48 1.20 1.38
E fir ®# =t 120 120 150 1.25 1.38
T ® - B T % % &
KEIJiE =2 H* 40 40 38 0.95 0.83
=s =R H* 40 40 16 0.40 0.85
[N =8 H* 40 40 24 0.60 0. 65
F E H =t 120 120 18 0.65 0.78
E & - B 3 2% = &
XERE B = ) ) 08 T3
£ &3 # it 40 40 32 0.80 1.13
5 T B T I = &
AEH KEF H* 80 80 89 1.11 1.21
| S LHE AR—YH AL TORFE| H 80 80 80 1.00 0.76
IR =t 160 160 169 1.06 0.99




L HE FEMFEH No. 8
= BB AZFA | oraen s _
B B & 2 - 2 |x| mEAms | FEam | AR | BEOBEE g s
% # (A) (B) B=A | ™"
i o = E3] £l ) s Fl
A= e E: 40 40 107 2.68 1.93
AT R 3E $ 40 40 M 1.03 1.18
AL R $ 40 40 70 1.75 1.40
AR Ak R $ 40 40 72 1.80 1.63
il 1 3E B 40 40 71 1.78 1.73
O iz K=t R H 40 40 97 2.43 2.20
o JIl@mar EHE $t 40 40 82 2.05 1.48
#H % =t 280 280 540 1.93 1.65
12 ik = B 9 ) i Fl
SAAN{E AL EETES! E: 30 80 50 0.63 0. 74
TR =t 30 80 50 0.63 0. 74
A X = 5] Eh % ¥ ®
ZHEE [AXZFE E: 40 40 23 0.58 1.13
A X Fl =t 40 40 23 0.58 1.13
5] B X ik = 5] g % 2 ®
=5 [EEIEF E:3 40 40 1] 1.03 1.03
H B X & # B 40 40 Iy 1.03 1.03
B B = = B A % !
EL it v MEE TR E: 40 40 43 1.08 1.43
M & = fiT £t 40 40 43 1.08 1.43
L g % 2 ®
=iife s ZE=ME H 40 40 34 0.85 1. 40
g & = #i #® =t 40 40 3 0.85 1.40
£ 09 BB = 05 Ea % %
WFH EXVEA E:3 120 (1) 119 122 1.03 1.02
BER 3 120 (1) 119 125 1.05 1.12
£ % 2B B R =t 240 (2) 238 247 1.04 1.07
| & M =2 # [ &t | 7,900 (44)] 7, 856] 7,686  0.98] 1.06
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SEH BATH No.9

$ *5]— % ]\?E‘FEI =+ ES 3T 2% =
B B & 2 - 2 |x| mEAms | FEam | AR | BEOBEE g s
% #t (A) (B) B=A | ™"

NEE B o E: 120 (1) 119 3] 0.28 ] 056
S e En 200 (2) 198 226] 114 | 1.44
REILE BEEF # 320 (2) 318 316] 099 | 1.07
EE3 BAET E: 200 (2) 198 159 0.80 | 1.07
EEE e E: 200 (2) 198 186] 0.94 | 1.05
AR BEER # 80 (1) 79 74 0.94| 1.14
S BEEF E: 280 (2) 278 288 1.04 | 1.01
EIES BAEF 7 120 (1) 119 147 1.24 | 1.29
FERIL B a2 % 200 (2) 198 191 __0.96 | 0.9
B =F T.720 (15 T 705 T 620] 095] 108

[ z5% 2& =2 Gash TSF1 36280 (240)] 36, 040] 30.475]  1.10] 1.12 ]




] EEE No.1 O

$ *5]— % ]\?E‘FEI =+ ES 3T 2% =
2 B 4 2 - 2 |x| mEAms | FEam | AR | BEOBEE g s
% #t (A) (B) B=A | ™"
R @ FL D 40 40 22] 0.55] 0.65
BE @R # 40 40 22 0.55| 0.19
SN @R E] 40 40 16] 0.40 | 0.10
BME—RF | EEF S 40 40 5] 0.38| 0.20
AEBE @R # 40 40 3 0.08] 0.18
REHR @R # 80 80 31| 0.39 | 0.56
/M @ FL # 40 40 13 0.33 | 0.40
FEED @R # 80 80 33 0.4 0. 54
T E @R # 40 40 5] 0.38| 0.28
A= 5@ FL # 40 40 0] 0.25| 0.20
S @R # 40 40 12 0.30 | 0.10
Ay B @Rl # 80 80 20 0.25| 0. 36
BRREIRY [ZEF # 40 40 2] 0.05| 0.08
iR @R # 40 40 19]  0.48 | 0.45
FE R [ i # 120 (40) 80 59 0.74 | 0.90
G # 40 40 6] 0.15| 0.25
B BE @R # 40 40 16] 0.40 | 0.40
AE B # 40 40 14 0.35| 0.15
T B H =t 920 (40) 830 328] 0.37] 0. .37
il MR AM e No.1 1
g 7l 2 AR
== # T =
5 B % 2 — 2 |x| mEAR | pramg | CRAR | BEBIE G s
% # (A) (B) B+ A
T E3 Iz Bl 9 % Ea Fl
RKETE TER AR H 80 80 18 0.23
JNIOIT% T H 80 80 13 0.16
JIET TERME H 80 80 15
I % # £t 240 240 46
iz £ Iz Bd £l % e El
AEEE BEXE! 3 40 40 3 0.20 0.25
EREIRS = 40 40 8] 0.20 ] 0.25

2—10



TERH REFHE No. 1 2
=2 B | B ARHA | s 2 _
2 B & 2 - 2 |x| mEAms | FEam | AR | BEOBEE g s
% Pay (A) (B) B-A | 7°
RIS 1 & S 160 (4 156 142] 0.01 | 1.18
1 & # 80 78 20 0.26 | 0.28
== 1 & # 80 (@ 78 93 1.19 | 0.92
I & # ) 78 74]0.95 | 1.35
I &3 # 80 78 31 0.40 | 0.4
W £ f 1 & # 144 144 165 1.15| 0.99
I &5 # 72 72 11 __0.15 [ 0.08
EIES 18 # 80 78 58| 0.74 | 1.15
1 & # 80 (@ 78 27| 0.35 | 0.47
O IOy REFH # 80 80 56| 070 037
B & F 1 st 936___(16) 920 677 _0.74] 0.76
[ Emh & - 5 - KesH it 2 136 __(56)] 2_080] 1,059]  0.51 | 0.52 ] |
T ] 38 416 (296)] 38_120] 40 534] __1.06 ] 1.09 ] ]
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